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Addition

Add
Plus
Total
More
Altogether

2135

35 21

Miss Bishop picks 35 
apples. Mrs Adams 
pick 21 more. How 
many apples have 

they picked in total.

T O

3 5

2 1

35 + 21 = 



Subtraction
Subtract
Take away
Minus
Less
Fewer
Difference

21

35

35

21

Miss Bishop picks 35 
cherries. Mrs Adams 
eats 21. How many 
cherries does Miss 
Bishop have left?

T O

3 5

2 1

35 - 21 = 



Multiplication
Groups of 
Lots of
Times
Multiply
Array 

Miss Bishop has 5 
cupcakes. Each cake 

has 2 cherries on. How 
many cherries are 

there?

5 groups of 2
5 lots of 2
2 times 5
2 x 5

2 + 2 + 2 + 2 + 2 =
Repeated addition
2 x 5 = 
Multiplication



Division
Share
Group
Equal
Divide

4 shared equally 
between 2 groups

8 grouped equally into 2’s

Miss Bishop has 4 cookies 
and shares them equally 
between 2 children. How 
many cookies does each 

child have

Miss Bishop has eight cookies and puts them in to equal 
groups of 2. How many groups are there?
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